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Note: Answer any zltml?qlfééi‘ions, chc?osing one full question from each part.
QN Questions ;iMarkngBT%CO;sf
 PARTA |

||aExplain the working of op-amp Non inverting amplifier, 9 ILTZiCO4E
Derive the expression gain both exact and ideal analysis and i
| et expressions for Rif, Rof and fof

b/For an inverting Schmitt Trigger circuit R1 = 15KQ ; R2=5 6 |L2/CO4
IKQ and Vin=
10Vp-pp sine wave. The saturation voltages are + 14V and

Vref=2 V.
i) Determine the threshold voltages Vurand Vi J

¢/ What is an instrumentation amplifier? What are its 10 |L3/CO4

applications? With a neat circuit diagram explain dn}'

instrumentation amplifier using a transducer bridge. | b5
OR
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EmDerivc the expression for closed loop voltage gain, input 10 12 t\C04

| ]and output resistance of inverting Amplifier. The opamg
741C is connected as an inverting amplifier with R1=1k
jiand RF=4.7kQ. Compute the closed loop parameters: AF,
RIF, ROF, {F. . Given A=400000, Ri=33MQ and RO=60£2;
supply voltages are + 13V; Max output voltage swing = %
13V, Unity gain bandwidth = 0.6MHz .

'bExplain the operation of 4-bit R-2R DAC with neat circuit. 9 |L31CO4|
| | [For the R-2R DAC, with R=10kQ and Rr=20kQ and Vrer=5V,
1 | éf_:}?rmine the output voltage when the inputs b0=b1=5V andfg |
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| | sampl:her wnh three inputs and averaging amplifier

3 a,Dcnvc an Fxprcsqlon for the output of a inverting ‘Summm%

|

10 |12/ CO4

| b.[ xplain thc operation of a monostable multivibrator W‘ilh]
n ;rclcvant diagrams and waveforms.
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4 aExplain the basic comparator circuit using an opamp. How can
.| this circuit be used in an application as a zero crossmg,

dctcctor ? %

10 L2 CO4

'biDemgn an Astable Multivibrator using 555 timer havmg
. output frequency of 10KHz with a dutyCycle of 25%.

R

6 (L3 CO4

|cEprdm the working of a second order high pass
‘ Butterworth filter with a neat circuit diagram and frequency
| response. Write the relevant design equations.

9 |L2 CO4
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